

REPUBLIC OF THE PHILIPPINES Department Of Health National Center for Mental Health



LIST OF ITEMS FOR PUBLIC BIDDING **MEDICAL SUPPLIES CY 2024**

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES (Consumable)				
MS24-001	Abdominal Binder - made of cotton pile fabric and polyurethane foam, lined with tricot for additional comfort elastic. Velcro or hook and loop closures comes in 8" x 52". Dimensions: 11cm x 8cm x 20cm, recommended for wear post-abdominal surgery, Caesarean section, bariatric surgery, exploratory laparotomy, hysterectomy, tummy tuck spinal surgery Dimension: 31.5cm x 3cm x 8cm	100	piece	223.00	22,300.00
MS24-002	AED PADS - CPR-D-padz – CPR Electrodes for Automated External Defibrillators (Compatible with AED Plus ZOLL Resuscitation Systems) - Preconnected electrode with Real CPR Help feedback and See-Thru CPR. The one-piece design simplifies proper positioning on the chest. One size fits all, with the ability to expand for a larger chest. Application: Public Access – Non-clinical, EMS – Resuscitation. Five (5) year shelf-life from manufacturing date. To be used with Adults or Childresn 8 years and older or 25 kilos and heavier.	35	piece	23,000.00	805,000.00
MS24-003	Alcohol Breath Analyzer	1	unit	6,600.00	6 600 00
MS24-004	Alcohol, Isopropyl 70% (with 3.785L/gallon) (with at least 24 months expiration).	6,000	gallon	435.00	6,600.00 2,610,000.00
MS24-005	Alcohol Swab/ Alcohol Prep Pads 2x2 (with at least 24 months expiration).	8,000	piece	3.85	30,800.00
MS24-006	Aneroid Sphygmomanometer with Stethoscope, ADULT - Latex Free with single tube. Range: 0- 300mmHg. Precision valve with slow deflation rate. Extra large inflation bulb. Gauge with internal diameter of 65mm. Velcro cuff, for adults, washable made in nylon with ring. Sphygmomanometer, Long lasting, thicker rubber bladder, Authentic, luminous dial face (Durable Adult, Inflation System, Genuine brass gauge. With Handy zipper case, Durable adult inflation system, Authentic luminous dial face, Long lasting thicker rubber bladder). With Certificate of Calibration (PORTABLE)	250	set	2,000.00	500,000.00
MS24-007	Aneroid Sphygmomanometer with Stethoscope, PEDIATRIC, Manometer, range 0-300 mm. accuracy +/-3 mm. Newborn and child velcro cuff. Standard model in vinyl zipper case. (PORTABLE)	50	set	490.00	24,500.00
MS24-008	Arm Sling - adjustable shoulder strap allows for a custom comfortable fit. Supports left or right arm. 70% polyester, Latex free. MEDIUM	100	piece	55.00	5,500.00

"There is no Health without Mental Health"





ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-009	Arm Sling - adjustable shoulder strap allows for a custom comfortable fit. Supports left or right arm. 70% polyester, Latex free. LARGE	100	piece	55.00	5,500.00
M\$24-010	Bedpan, Plastic	100	piece	66.00	6,600.00
MS24-011	Biohazard Needle Disposal Container, 3L capacity; puncture-proof hard plastic; with locks for fnal disposal and safe transport.	20	piece	440.00	8,800.00
MS24-012	BP App, Digital - Fully automatic Personalized inflation for maximum comfort. Quick deflation releases valve for speedy measurement. With heartbeat indicator and velcro cuff.	100	piece	1,600.00	160,000.00
MS24-013	BP Velcro cuff, LATEX RUBBER TYPE OF BLADDER for PEDIA	100	piece	1,000.00	100,000.00
MS24-014	BP Velcro cuff, LATEX RUBBER TYPE OF BLADDER for ADULT	100	piece	500.00	50,000.00
MS24-015	Blood Glucose Test Strips and Lancet with free 100pcs Glucometer with Strip Ejector, for in vitro diagnostic use, no coding, individually foil wrapped strips, small blood sample required atleast (0.5µl), 5 second test time, 5 second blood sample reapplication time, top or end fill with visual confirmation, fill trigger ensures test starts only when sufficient blood sample has been applied. Must be compatible to existing Glucometer. (with at least 24 months expiration).	56,700	piece	7.70	436,590.00
MS24-016	Blood Pressure Latex Bulb With Air Release Valve Sphygmomanometer. Blood Pressure Monitor Manual Inflation Pump	198	piece	125.00	24,750.00
MS24-017	Blood Transfusion Set, sterilized by EO gas, non-toxic, no heavy metal & pyrogen free w/ vein needle G.18, double chamber w/ large mesh filter minimizing platelet loss & hemolysis, flexible table, individualy packed into plastic pouch. With standard length of tube of 180cm and dropping of 20 drops/mL. (with at least 24 months expiration).	1,300	piece	71.50	92,950.00
MS24-018	Boufant Cap, Single Elastic, Strip type, disposable	49,500	piece	1.50	74,250.00
MS24-019	Cervical Collar, small, 27.9-34.3cm, 17-mm foam, with cotton stockinette, contoured, with hook and lock closure system	20	set	550.00	11,000.00
MS24-020	Cervical Collar, medium, 34.3-39.4 cm, 17-mm foam, with cotton stockinette, contoured, with hook and lock closure system	20	set	577.50	11,550.00
MS24-021	Cervical Collar, large, 39.4-44.5 cm, 17-mm foam, with cotton stockinette, contoured, with hook and lock closure system	20	set	605.00	12,100.00
MS24-022	Cervical Collar, extra large, 44.5-48.3 cm, 17-mm foam, with cotton stockinette, contoured, with hook and lock closure system	20	set	632.50	12,650.00
MS24-023	Colostomy bag with wafer 60-70mm (with at least 24 months expiration).	800	piece	550.00	440,000.00
MS24-024	Cotton Tip Applicator, sterile, individually packed x 2 pcs. (with at least 24 months expiration).	5,400	piece	2.20	11,880.00
MS24-025	Cotton Absorbent Balls, 400 grams - made from 100% pure natural cotton fibers, highly absorbent, super soft texture, clean and safe, economical, approximately 1,000 pieces per pack. (with at least 24 months expiration).	300	roll	213.13	63,939.00

ITEM CODE	· ITEM DESCRIPTION	QUANTITY	иом	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES	100			
MS24-026	Disposable ECG Electrodes, ADULT, 36-37x40-45mm (oval) / circular snap connection, foam support 1mm thick, hypoallergenic medical grade adhesive, pre-gelled that is not sticky to skin and with silver chloride stainless steel stud and defibrillation resistant. (with at least 24 months expiration).	2,500	piece	35.20	88,000.00
MS24-027	Disposable ECG Electrodes, PEDIATRIC, 32x36mm (oval) snap connection, foam support 1mm thick, hypoallergenic medical grade adhesive, pre-gelled that is not sticky to skin and with silver chloride stainless steel stud and defibrillation resistant. (with at least 24 months expiration).	2,000	piece	35.20	70,400.00
MS24-028	Effervescent Chlorine Tablets. 2.5 g Sodium dichlorostriazinetrione, US EPA approved with Certificate, described as highly effective againts both envelope and unenvelope virus on master label. 100's tablets per jar with atleast 3 years of expiration	25	cannister	2,359.00	58,975.00
M\$24-029	Egg Mattress Size: 36x75x2.5" - has a convoluted shape which prevents and helps heal skin ulcers, eliminates bed sores, reduces pressure pains, allows air to flow and prevents your body from becoming too hot during sleep. Its peaks provide softness and comfort while its hollows provide passageway for air to pass through.	50	piece	1,500.00	75,000.00
MS24-030	Emergency Kit - 1 pack Cotton buds (72's), 1 roll Gauze Bandage 3", 4 pcs. Gauze Pad 2x2x8ply sterile, 1 pc. Triangular Bandage 96x96x136cm, 1 pc. CPR Mask Disposable, 1 pc. Emergency Blanket 130x210cm, 1 pair Vinyl Gloves, 1 pc. Ice Pack Instant, 1 pc. Cooling Fever Patch, 1 roll Surgical tape 1/2", 1 pc. Tourniquet Rubber Flat, 10 pcs. Safety Pins small, 1 pc. Whistle, 1 pc. Scissor small, 1 pc. Flashlight, 1 pc. Multi Tool kit, 1 tube Antibiotic, 10 pcs. Alcohol Swab, 10 pcs. Povidone Swab 1 pc. First Aid Bag	15	kit	1,050.00	15,750.00
MS24-031	Endotracheal tube 2.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	pcs	77.00	770.00
MS24-032	Endotracheal tube 3.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	piece	77.00	770.00
MS24-033	Endotracheal tube 3.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	piece	77.00	770.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-034	Endotracheal tube 4.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	piece	77.00	770.00
MS24-035	Endotracheal tube 4.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	piece	77.00	770.00
MS24-036	Endotracheal tube 5.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	piece	77.00	770.00
MS24-037	Endotracheal tube 5.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	10	piece	77.00	770.00
MS24-038	Endotracheal tube 6.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	30	piece	77.00	2,310.00
MS24-039	Endotracheal tube 6.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	70	piece	77.00	5,390.00
MS24-040	Endotracheal tube 7.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	130	piece	77.00	10,010.00
MS24-041	Endotracheal tube 7.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	220	piece	77.00	16,940.00
M\$24-042	Endotracheal tube 8.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	100	piece	77.00	7,700.00
MS24-043	Enema Can Aluminum Stainless Steel with douche tube and Douche fitting set (stop cork, vaginal pipe & rectal pipe). Dimension: 15cm x 15cm x 17cm	30	piece	1,100.00	33,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-044	Foley Catheter, Sterile, Three-way, Fr. 24 - Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 50mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	30	piece	300.00	9,000.00
MS24-045	Foley Catheter, Sterile, Three-way, Fr. 22 - Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 100mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	30	piece	300.00	9,000.00
MS24-046	Foley Catheter 3-way, Fr.20, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 50mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	31	piece	300.00	9,300.00
MS24-047	Foley Catheter 2-way, Fr.20, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 50mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	30	piece	60.00	1,800.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-048	Foley Catheter 2-way, Fr.18, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 100mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	100	piece	60.00	6,000.00
MS24-049	Foley Catheter 3-way, Fr.18, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 50mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	50	piece	300.00	15,000.00
MS24-050	Foley Catheter 2-way, Fr.16, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 50mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	1,000	piece	60.00	60,000.00
MS24-051	Sterile Foley Catheter: All-silicon, Disposable, Two-way, Fr. 16, Needleless, Balloon should have high tensile strength, Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should with stand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet.	350	piece	127.60	44,660.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP		COMPANIES CONTRACTOR			
M\$24-052	Sterile Foley Catheter: All-silicon, Disposable, Two-way, Fr. 14, Needleless, Balloon should have high tensile strength, Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should with stand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet.	100	piece	127.60	12,760.00
MS24-053	Foley Catheter 2-way, Fr.14, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 30mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	360	pcs	60.00	21,600.00
MS24-054	Foley Catheter 2-way, Fr.12, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 30mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	30	piece	60.00	1,800.00
M\$24-055	Foley Catheter 2-way, Fr.10, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 30mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	20	piece	60.00	1,200.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-055	Foley Catheter 2-way, Fr.10, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 30mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	20	piece	60.00	1,200.00
MS24-056	Foley Catheter 2-way, Fr.8, Silicon elastomere coated, latex, disposable, Needleless, Balloon should have high tensile strength and can withstand up to 30mL without bursting. Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa. The tip should not easily kink on manipulation and insertion. The lumen should withstand manual and repetitive suctioning without collapsing. The body should be easy to handle and should not be slippery to manipulate. The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. (with at least 24 months expiration).	20	piece	60.00	1,200.00
MS24-057	Gauze non-woven sponges, 5cm x 5cm (100's/pack) (for Dental Clinic use)	350	box	78.00	27,300.00
MS24-058	Gauze, surgical bolt, white, 36 inches x 50 yards 2ply, 28 x 24 mesh, with x-ray detectable line.	700	roll	1,300.00	910,000.00
MS24-059	Gloves, surgical, sterile, latex, powder free, size 6, with readable ink size marking in the packaging and gloves, at least 10" long, with AQL of at least 0.65, as indicated in the packaging or proof of laboratory test, durable, thick, with beaded cuff, comfortable to use, fits and follow the natural finger shape, can hold surgical sleeves, can withstand to chemotheraply drugs, can provide effective insulation (protection from electrosurgery burn), low endotoxin and non-pyrogenic. (with at least 24 months expiration).	500	pair	38.50	19,250.00
MS24-060	Gloves, surgical, sterile, latex, powder free, size 6.5, with readable ink size marking in the packaging and gloves, at least 10" long, with AQL of at least 0.65, as indicated in the packaging or proof of laboratory test, durable, thick, with beaded cuff, comfortable to use, fits and follow the natural finger shape, can hold surgical sleeves, can withstand to chemotheraply drugs, can provide effective insulation (protection from electrosurgery burn), low endotoxin and non-pyrogenic. (with at least 24 months expiration).	1,300	pair	38.50	50,050.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-061	Gloves, surgical, sterile, latex, powder free, size 7.0, with readable ink size marking in the packaging and gloves, at least 10" long, with AQL of at least 0.65, as indicated in the packaging or proof of laboratory test, durable, thick, with beaded cuff, comfortable to use, fits and follow the natural finger shape, can hold surgical sleeves, can withstand to chemotheraply drugs, can provide effective insulation (protection from electrosurgery burn), low endotoxin and non-pyrogenic. (with at least 24 months expiration).	8,400	pair	38.50	323,400.00
MS24-062	Gloves, surgical, sterile, latex, powder free, size 7.5, with readable ink size marking in the packaging and gloves, at least 10" long, with AQL of at least 0.65, as indicated in the packaging or proof of laboratory test, durable, thick, with beaded cuff, comfortable to use, fits and follow the natural finger shape, can hold surgical sleeves, can withstand to chemotheraply drugs, can provide effective insulation (protection from electrosurgery burn), low endotoxin and non-pyrogenic. (with at least 24 months expiration).	4,300	pair	38.50	165,550.00
MS24-063	Gloves, surgical, sterile, latex, powder free, size 8.0, with readable ink size marking in the packaging and gloves, at least 10" long, with AQL of at least 0.65, as indicated in the packaging or proof of laboratory test, durable, thick, with beaded cuff, comfortable to use, fits and follow the natural finger shape, can hold surgical sleeves, can withstand to chemotheraply drugs, can provide effective insulation (protection from electrosurgery burn), low endotoxin and non-pyrogenic. (with at least 24 months expiration).	1,000	pair	38.50	38,500.00
MS24-064	Gloves, Latex, examination, disposable, powder free, non-sterile, ambidextrous, single use, size LARGE (with at least 24 months expiration)	282,000	pair	6.00	1,692,000.00
MS24-065	Gloves, Latex examination, disposable, powder free, non-sterile, ambidextrous, single use, size MEDIUM (with at least 24 months expiration)	182,050	pair	6.00	1,092,300.00
MS24-066	Gloves, Nitrile, examination, disposable, powder free non-sterile, ambidextrous, single use, size LARGE (with at least 24 months expiration)	50,000	pair	6.60	330,000.00
MS24-067	Gloves, Nitrile, examination, disposable, powder free non-sterile, ambidextrous, single use, size MEDIUM (with at least 24 months expiration)	15,000	pair	6.60	99,000.00
MS24-068	Gloves, Nitrile, examination, disposable, powder free non-sterile, ambidextrous, single use, size SMALL (with at least 24 months expiration)	60,000	pair	6.60	396,000.00
MS24-069	Heparin cap luer lock in-stopper ABS or PC material, needle-free disposable, made from fine material (medical grade PVC) and easy to puncture, latex free, sterile blister packaging (with at least 24 months expiration)	3,300	piece	50.00	165,000.00
MS24-070	Household Water Purification Tablets - 67mg tablet, 1 tablet purifies 20 liters. Use of drinking water disinfection. (with at least 24 months expiration).	20,850	piece	11.00	229,350.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-071	Hydrogen Peroxide 3% Antiseptic Solution, 10 Volumes, 500mL per bottle (with at least 24 months expiration).	101	bottle	82.50	8,332.50
MS24-072	Hypodermic / InjectionTray, stainless steel, 8" x 3" x 2", with Strap Handle Lid	30	piece	750.00	22,500.00
MS24-073	Infusion set, ADULT, 20 macrodrops/mL/y-injection port/rubber/ 215 cm length, with luer lock adapter, air vented, disposable, E.O. gas sterile / pyrogen -free (with at least 24 months expiration).	8,900	piece	47.50	422,750.00
MS24-074	Infusion set, PEDIA - 60 microdrops/mL/y-injection port/rubber/ 195cm length, with luer lock adapter, air vented, disposable, E.O. gas sterile / pyrogen -free (with at least 24 months expiration).	3,360	piece	44.00	147,840.00
MS24-075	IV CANNULA G18 with transparent or white plastic safety protection device, injection port and wide wings with ultra lancet point and ultra sharp triple bevel needle, silicon coated, made of polyurethane/FEP radio-opaque strip on catheter with removable micro-porous hydrophobic filter, 45mm length (with at least 24 months expiration)	1,440	piece	70.00	100,800.00
MS24-076	IV CANNULA G20 with transparent or white plastic safety protection device, injection port and wide wings with ultra lancet point and ultra sharp triple bevel needle, silicon coated, made of polyurethane/FEP radio-opaque strip on catheter with removable micro-porous hydrophobic filter, 32mm length (with at least 24 months expiration)	4,600	piece	70.00	322,000.00
MS24-077	IV CANNULA G22 with transparent or white plastic safety protection device, injection port and wide wings with ultra lancet point and ultra sharp triple bevel needle, silicon coated, made of polyurethane/FEP radio-opaque strip on catheter with removable micro-porous hydrophobic filter, 25 mm length (with at least 24 months expiration)	11,300	piece	70.00	791,000.00
MS24-078	IV CANNULA G24 with transparent or white plastic safety protection device, injection port and wide wings with ultra lancet point and ultra sharp triple bevel needle, silicon coated, made of polyurethane/FEP radio-opaque strip on catheter with removable micro-porous hydrophobic filter, 19 mm length (with at least 24 months expiration)	8,400	piece	85.00	714,000.00
MS24-079	IV CANNULA G26 with transparent or white plastic safety protection device, injection port and wide wings with ultra lancet point and ultra sharp triple bevel needle, silicon coated, made of polyurethane/FEP radio-opaque strip on catheter with removable micro-porous hydrophobic filter, 19 mm length (with at least 24 months expiration)	4,300	piece	85.00	365,500.00
MS24-080	IV Splints Brace With straps for CHILD - Splint application to avoid unwanted movement of limbs and kinking of intravenous catheters, allowing free flow of intravenous fluids.	100	piece	100.00	10,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP					
MS24-081	IV Splints Brace With straps for ADULT- Splint application to avoid unwanted movement of limbs and kinking of intravenous catheters, allowing free flow of intravenous fluids.	100	piece	100.00	10,000.00
MS24-082	IV Stand 4 Hooks Stainless - Heavy duty. Chrome plated steel tubing offers a round surface – no corners to collect dirt and grime, Well-balanced, stable no-tip cast aluminum base. Easy rolling wheel ball bearing nylon casters, Height range 52.5" – 94", Twist lock for easy height adjustment, 4 Hooks, 4 Wheels	100	piece	4,000.00	400,000.00
MS24-083	IV Starter Kit, includes latex free IV constricting band (18 in. x 1in.), clear adhesive hypoallergenic tape (4 in. x 4.75in.), 2x alcohol pads; 2x 2x gauze pads (2in. X 2in.); Tegaderm Transparent Film (Pav 2 ER use)	5,477	set	550.00	3,012,350.00
MS24-084	KN95, 5 layer Respirator Mask, single, Individually pack, sterile, earloop type, with High Filtration Efficiency of ≥95%	79,000	piece	20.00	1,580,000.00
MS24-085	Lubricating jelly, sterile, non-toxic, water-based, 5 grams per sachet (with atleast 24 months expiration).	1,800	piece	16.50	29,700.00
MS24-086	Lubricating jelly, sterile, non-toxic, water-based, 80 gram/tube (with atleast 24 months expiration).	100	piece	231.00	23,100.00
MS24-087	Manual Resuscitator, ADULT with oxygen Reservoir bag, 2 Face Masks, 3 Guedel Airway and Oxygen Tubing, (Portable)	300	set	2,464.00	739,200.00
MS24-088	Manual Resuscitator, PEDIA, with oxygen Reservoir bag, 2 Face Masks, 3 Guedel Airway and Oxygen Tubing (Portable)	100	set	2,464.00	246,400.00
MS24-089	Mask, surgical disposable, 3 PLY, Elastic without glass fibres, hypoallergenic, very low resistance to breathing, nose baradaptable, high filtration capacity, perfect fitting, EAR-LOOP	672,350	piece	5.00	3,361,750.00
MS24-090	Mayo Stand with Trays (4 wheels)	13	piece	2,500.00	32,500.00
MS24-091	Medical intubation stylet guide wire for endotracheal tube, made of malleable aluminium, smooth PVC sleeve, smooth formed tip, size Fr.12 (with atleast 24 months expiration).	40	piece	440.00	17,600.00
MS24-092	Medical intubation stylet guide wire for endotracheal tube, made of malleable aluminium, smooth PVC sleeve, smooth formed tip, size Fr.10 (with atleast 24 months expiration).	50	piece	440.00	22,000.00
MS24-093	Medicine Cups, 30mL - Medicine Cups Disposable 1 oz. Graduated. 1 oz. = 30m, Plastic.	550	piece	8.00	4,400.00
MS24-094	Medicine Tablet Cutter / Pill Cutter Stainless - ACCURATE BLADES: Our blades are angled so that they will never dull, yet they are not sharp to the touch. TWIN BLADES: The double blades create a split point that gives you perfect halves every time!. COMPREHENSIVE DESIGN: This perfect pill cutter splits any size and shape tablet QUALITY CRAFTSMANSHIP: Made of solid aircraft aluminum. Crafted here in the USA GUARANTEE: We offer a Lifetime guarantee on the Equadose pill splitter!	28	piece	325.00	9,100.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-095	Medicine Tray (Stainless) - Size:9×4.6" Stainless steel medicine trays are often used in conjunction with hospital bedside tables or overbed tables to hold medicines, and other items. The ease of sterilization for these steel surgical trays makes them easy to reuse over and over for patients for years. Used to store or sterilize medical, dental, surgical instruments and medicines.	25	pìece	200.00	5,000.00
MS24-096	Mucus Specimen Traps - use to collect specimen by using any suction pump device. The container has clearly marked measurement gradations that show collective amounts trapped within the 40cc to 80cc plastic container. It features a disposable adapter that prevents contamination and the screw on cap helps maintain a strile pouring surface. It comes with a 5 inch, non-latex, heavy wall tubing. The tubing will accomodate all suction catheters to become a universal trap. (with at least 24 months expiration).	50	piece	93.50	4,675.00
M\$24-097	N95 mask, particulate respirator contains no components made from natural rubber latex, Collapse resistant cup shape design. Two-strap design with welded dual point attachment, braided headbands, cushioning nose foam, and lightweight construction for comfortable wear, easy breathing/ speaking. Made from synthetic plastic fibers, usually polypropylene (PP). They also contain rubber and metal for the straps, staples, and nose bar.Teal color, with NIOSH Certificate ((with at least 24 months expiration)	37,200	piece	95.00	3,534,000.00
MS24-098	Nasal Oxygen Cannula, ADULT, made from nontoxic PVC compound, 1.8 meters of non-kink star lumen PVC tubing, nasal prongs made of soft PVC (with at least 24 months expiration)	2,500	piece	35.20	88,000.00
MS24-099	Nasal Oxygen Cannula, PEDIA - Material: DEHP free, Latex-free. Connections: 6mm tubing for gas supply. Dimension: 18cm x 3cm x 23cm. Allergy-free silicone prong minimizes skin irritation. Ultra soft and lightweight nasal prong for better comfort. Curved nasal prong for better stabilities and flow path. Skinfriendly ear padding prevents pressure sores around ears. Magic fitting nasal cannula for easy cleaning. Flow indicator detects and indicates whether air is passing through or occlusions on tubing. (with at least 24 months expiration)	1	piece	35.20	3,520.00
MS24-100	Nasogastric tube (NGT) Duodenal tube, Fr. 16, 100% Silicone, individually pack, sterilized (with atleast 24 months expiration).	1,500	piece	185.00	277,500.00
MS24-101	Nasogastric tube (NGT) Duodenal tube, Fr. 14, 100% Silicone, individually pack, sterilized (with atleast 24 months expiration).	200	piece	185.00	37,000.00
MS24-102	Nasogastric tube (NGT) Duodenal tube, Fr. 5, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration).	25	piece	50.00	1,250.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-103	Nasogastric tube (NGT) Duodenal tube, Fr. 8, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration).	25	piece	50.00	1,250.00
MS24-104	Nebulizing kit with mask and mouthpiece, inhalation adult set, includes 1 mask, 1 medication chamber cup, 1 oxygen tube (with at least 24 months expiration).	700	piece	81.40	56,980.00
MS24-105	Nebulizing kit with Mask (PEDIA) Includes Neb kit, Mask and tubing with medicine chamber (with atleast 24 months expiration).	35	piece	81.40	2,849.00
MS24-106	Needle, Butterfly Scalp Vein Set, gauge 21	100	piece	16.50	1,650.00
MS24-107	Needle, Butterfly Scalp Vein Set, gauge 23	100	piece	16.50	1,650.00
MS24-108	Needle, Butterfly Scalp Vein Set, gauge 25	100	piece	16.50	1,650.00
MS24-109	NEEDLE G.18 - Hypodermic Needles. Ultra Sharps needle, unique double bevel cut design, ultra thin wall, Tamper Evident peel packs, sterilized by electron beam. High quality, stainless-steel structure assures smooth puncture. (with at least 24 months expiration).	2,700	piece	4.00	10,800.00
MS24-110	NEEDLE G.20 - Hypodermic Needles. Ultra Sharps needle, unique double bevel cut design, ultra thin wall, Tamper Evident peel packs, sterilized by electron beam. High quality, stainless-steel structure assures smooth puncture. (with at least 24 months expiration).	200	piece	4.00	800.00
MS24-111	NEEDLE G.22 - Hypodermic Needles. Ultra Sharps needle, unique double bevel cut design, ultra thin wall, Tamper Evident peel packs, sterilized by electron beam. High quality, stainless-steel structure assures smooth puncture. (with at least 24 months expiration).	200	plece	4.00	800.00
MS24-112	Non-Rebreathing Oxygen Mask with safety Valve, ADULT (with at least 24 months expiration).	200	piece	220.00	44,000.00
MS24-113	Oxygen Mask ADULT, with 7' crush-resistant tubing. Barbed fittings help prevent patient from disconnecting the mask. Comes with adjustable aluminum nose clips secure it for a better fit. The turn-up rim can ensure comfortable fit with good seal Offered with head strap and adjustable nose clip. The standard length of tube is 2.1m (with at least 24 months expiration).	1.830	piece	85.00	155,550.00
MS24-114	Oxygen Mask, under the chin style, medium concentration mask with 7ft. (84") tubing for single patient. (PEDIATRIC) (with atleast 24 months expiration).	50	piece	60.00	3,000.00
MS24-115	Peak Flow Meter	1	unit	1,103.75	1,103.75

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-116	Penlight - with Pupil Gauge, Chrome Plated finish, LED lamP. Chrome Plated Diagnostic Penlight with Pupil Gauge. An innovative extra bright cool light diagnostic penlight with chrome plated brass casing, pocket clip press activator switch, pupil gauge and slide rule. Comes complete with 2 AAA batteries. Size: 13×2 inches. the cartridge is made of aluminum alloy with anodized treatment, light and brightness. — Pocket clip press activator switch — LED lamp is durable and power saving — 2 "AAA" batteries	51	piece	750.00	38,250.00
MS24-117	Povidone lodine, 10% solution antiseptic and disinfectant (with at least 24 months expiration).	100	gallon	893.75	89,375.00
MS24-118	Pulse Oximeter, fingertip, SPO2 and pulse rate (PR) display, PR waveform and bargraph display, built in alarm can be set to high and low, adjustable auto alarm range, simple operation, low power consumption, four directions and eight display modes, color OLED, automatic power off, with USB rechargeable cord	175	piece	1,000.00	175,000.00
MS24-119	Sanitary Napkin	54,000	piece	5.00	270,000.00
MS24-120	Sharp Disposal Container, double lid, with hermetic lock seal, 30 Liters	100	piece	935.00	93,500.00
MS24-121	Skin Stapler wire with free pieces skin remover each, taller and sharper, pre-cock function, 35 staple count, sterile (with atleast 24 months expiration).	1	piece	440.00	44,000.00
MS24-122	Sterile Gauze Pads, 4x4 individually packed	2,000	pad	3.30	6,600.00
MS24-123	Straight Catheter, Fr.8, transparent, individually pack, sterilized by EO gas, non-toxic, non-pyrogenic (with at least 24 months expiration).	30	piece	27.50	825.00
MS24-124	Straight Catheter, Fr.12, transparent, individually pack, sterilized by EO gas, non-toxic, non-pyrogenic, Fr.12 (with at least 24 months expiration).	1,000	piece	27.50	27,500.00
MS24-125	Straight Catheter, Fr.14, transparent, individually pack, sterilized by EO gas, non-toxic, non-pyrogenic (with at least 24 months expiration).	800	piece	27.50	22,000.00
MS24-126	Suction catheter, Fr. 5 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	30	piece	22.00	660.00
MS24-127	Suction catheter, Fr. 8 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	30	piece	22.00	660.00
MS24-128	Suction catheter, Fr. 12 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	50	piece	22.00	1,100.00
MS24-129	Suction catheter, Fr. 14 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	300	piece	22.00	6,600.00
MS24-130	Suction catheter, Fr. 16 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	500	piece	22.00	11,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-131	Suction catheter, Fr. 18 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	100	piece	22.00	2,200.00
MS24-132	Surgical Micropore tape, 1 inch, reliably secures dressings and devices to skin, hypoallergenic, latex-free. Reliably secures dressings and devices to skin at least 2 hours, to prevent leakage of blood from AV fistula, IV Cannula, catheters, etc. with at least 24 months expiration	3,000	roll	55.00	165,000.00
MS24-133	Surgical Micropore tape, 2 inches, reliably secures dressings and devices to skin, hypoallergenic, latex free, Reliably secures dressings and devices to skin at least 2 hours, to prevent leakage of blood from AV fistula, IV Cannula, catheters, etc. with at least 24 months expiration	300	roll	110.00	33,000.00
MS24-134	Surgical Micropore tape, 3 inches, reliably secures dressings and devices to skin, hypoallergenic, latex-free, Reliably secures dressings and devices to skin at least 2 hours, to prevent leakage of blood from AV fistula, IV Cannula, catheters, etc. with at least 24 months expiration	500	roll	165.00	82,500.00
MS24-135	Surgical Shoe Cover, disposable, non-woven fabric, anti-water, anti-blood, anti-alcohol, anti-static.	17,600	pair	3.00	52,800.00
MS24-136	Syringe, Asepto, Irrigation Bulb 60cc, sterile, catheter tip, with plastic tip protector, allows one hand control, strong uniformly shaped barrel. (with atleast 24 months expiration).	1,000	piece	41.25	41,250.00
MS24-137	Syringes, disposable, 10cc, with needle G.21 x 1 inch, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with at least 24 months expiration).	63,850	piece	9.90	632,115.00
MS24-138	Syringes, disposable, 1cc, with needle G.26 x1/2 inch, slip tip, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with atleast 24 months expiration).	9,600	piece	6.60	63,360.00
MS24-139	Syringes, disposable, 30cc, with G.18 needle, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with at least 24 months expiration).	500	piece	33.00	16,500.00
MS24-140	Syringes, disposable, 3cc, with needle G.21 x 1 inch, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy.(with atleast 24 months expiration).	30,000	piece	6.60	198,000.00
MS24-141	Syringes, disposable, 5cc, with needle G.21 x 1 inch, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy.(with at least 24 months expiration).	60,000	piece	9.90	594,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-142	Syringes, disposable, 5cc, with needle G.23x 1 inch, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with at least 24 months expiration).	49,800	piece	6.60	328,680.00
MS24-143	Syringes, disposable, INSULIN (1cc), with needle G.30, slip tip, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy.(with atleast 24 months expiration).	10,600	piece	6.60	69,960.00
MS24-144	Thermal Paper 80mm - Electrocardiograph (ECG) Thermal Paper, 80x20mm - 3.5 inches x 65.6 feet	500	roll	95.00	47,500.00
MS24-145	Tongue depressor, individually packed, wooden (with at least 24 months expiration).	2,000	piece	1.65	3,300.00
MS24-146	Tourniquet, disposable, elastic, textured finish/smooth, retractable, highly flexible, latex free cotton ribbon, snap-on safety closure, secure opening, quick and safe releasing, convenient roll clip	1,000	piece	55.00	55,000.00
MS24-147	Underpads Super Dry, 60x90cm, disposable. (with atleast 24 months expiration).	25,400	piece	66.00	1,676,400.00
MS24-148	Urinal, plastic, for male, reusable, translucent, with lid, permits measuring ease and visualization contents	100	piece	110.00	11,000.00
MS24-149	Urine bag, with dual hanger, 2L capacity, 120 cm tube length. (with atleast 24 months expiration).	2,100	piece	27.50	57,750.00
MS24-150	Volumetric Solution Infusion Set (Soluset) attached injection set on 100 mL burette made of PVC, nontoxic resin, sterilized by EO gas, non-heavy metal & pyrogen free w/ built in float valve interrupts the fluid path, with y-injection port, 60 microdrops/ml (with atleast 24 months expiration).	2,500	piece	110.00	275,000.00
MS24-151	Wound Dressing Tray, 8x6 inches thin, stainless steel with instrument tray for cylinder tube and medicine cups	25	piece	650.00	16,250.00
MS24-152	Silk-like cloth tape, Covenient bi-directional tear, white color, hypoallergenic and latex free, size 1 inch x 10 yards (with at least 24 months expiration).	200	roll	160.00	32,000.00
MS24-153	Silk-like cloth tape, Covenient bi-directional tear, white color, hypoallergenic and latex free, size 2 inches x 10 yards (with at least 24 months expiration).	50	roll	327.00	16,350.00
MS24-154	Silk-like cloth tape, Covenient bi-directional tear, white color, hypoallergenic and latex free, size 3 inches x 10 yards (with at least 24 months expiration).	50	roll	475.00	23,750.00
MS24-155	Arterial Blood Gas Calibrant (EDAN 15) (100pcs/pack)	24	box	8,000.00	192,000.00
MS24-156	Arterial Blood Gas Test Cartridge BG3 (EDAN i15) (25pcs/pack)	72	box	12,500.00	900,000.00
MS24-157	Transpore Plaster 1 inch	24	roll	75.00	1,800.00
MS24-158	Pre-heparinized Arterial Blood Gas 3cc syringe	1,800	piece	80.00	144,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-159	Ventilator Breathing Circuit - 2 limbs (with extra 150cc corrugated tube for the ventilator and humidifier connection), 2 H2O traps, non-heated, with nebulizer kit, disposable (single patient only) with at least 24 months expiration	250	piece	675.00	168,750.00
MS24-160	BGE LEVEL 1 (5 AMPULES / SET)	3	set	2,800.00	8,400.00
M\$24-161	BGE LEVEL 2 (5 AMPULES / SET)	3	set	2,800.00	8,400.00
MS24-162	BGE LEVEL 3 (5 AMPULES / SET)	3	set	2,800.00	8,400.00
MS24-163	Armored / Reinforced Endotracheal Tube (ETT), size 6.0 - has reinforced metal coils which make it less likely to get obstructed. (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MS24-164	Armored / Reinforced Endotracheal Tube (ETT), size 6.5 - has reinforced metal coils which make it less likely to get obstructed. (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MS24-165	Armored / Reinforced Endotracheal Tube (ETT), size 7.0 - has reinforced metal coils which make it less likely to get obstructed. (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MS24-166	Armored / Reinforced Endotracheal Tube (ETT), size 7.5 - has reinforced metal coils which make it less likely to get obstructed. (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MS24-167	Armored / Reinforced Endotracheal Tube (ETT), size 8.0 - has reinforced metal coils which make it less likely to get obstructed. (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MS24-168	Armored / Reinforced Endotracheal Tube (ETT), size 8.5 - has reinforced metal coils which make it less likely to get obstructed. (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MS24-169	Anesthesia Set Flex, latex free Adult, Breathing Circuit with Fitting Mask - disposable anesthesia set, consisting of 2 hoses, Y-piece, Luer lock elbow and extendable bag hose, connector, fastening ring, 3L latex free breathing bag.	100	piece	650.00	65,000.00
MS24-170	Anesthesia Set Flex, latex free - Pedia, Breathing Circuit with Fitting Mask - disposable pediatric anesthesia set, consisting of 2 hoses (diameter 15mm), Y-piece, Luer lock elbow and extendable bag hose (diameter 15mm), connector, fastening ring, 1L latex free breathing bag.	25	piece	650.00	16,250.00
MS24-171	Anesthesia tubing - Jackson -Reese (with atleast 24 months expiration).	100	piece	110.00	11,000.00
MS24-172	Antibiotic Mesh 10cm x 10cm (with atleast 24 months expiration).	75	piece	242.00	18,150.00
MS24-173	Antiseptic surgical scrub solution. Non-ionic Surfactants, Has a pleasant perfume, and Tartrazine as colours. Easy to wash off. Can be used for neonates and thyroid patients. Not degraded due to bioburden. Effective in presence of blood, serious fluid, sweat etc. Non-staining and skin friendly. (5liters/gallon) (with atleast 24 months expiration).	24	gallon	6,050.00	145,200.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE	
MEDICAL SUP						
	Catgut Chromic, Chromic natural absorbable, size 0,				A breaker to easier to his relation of billion and relation to appear on a resident to appeal to handle Annie A	
MS24-174	75 cm, reverse cutting, 1/2 circle, 37mm (with	24	piece	242.00	5,808.00	
	atleast 24 months expiration).		····			
	Catgut Chromic, Chromic natural absorbable, size 0,					
MS24-175	75 cm, reverse cutting,3/8 circle, 37mm (with atleast	24	piece	242.00	5,808.00	
	24 months expiration).					
MC04 476	Catgut Chromic, Chromic natural absorbable, size 1-					
MS24-176	0, 75 cm, reverse cutting, 1/2 circle, 37mm (with	24	piece	242.00	5,808.00	
*********	atleast 24 months expiration). Catgut Chromic, Chromic natural absorbable, size 1-			•		
MS24-177	0, 75 cm, reverse cutting, 3/8 circle, 37mm (with	24	ninna	242.00	F 000 00	
101024-177	atleast 24 months expiration).	24	piece	242.00	5,808.00	
	Catgut Chromic, Chromic natural absorbable, size					
MS24-178	2/0, 75 cm, reverse cutting, 1/2 circle, 37mm (with	48	piece	226 60	16 156 90	
	atleast 24 months expiration).	10	piece	336.60	16,156.80	
	Catgut Chromic, Chromic natural absorbable, size					
MS24-179	2/0, 75 cm, reverse cutting, 3/8 circle, 37mm (with	48	piece	336.60	16,156.80	
	atleast 24 months expiration).		piood	550.00	10,130.60	
				7.41.W. W. i.		
	Catgut Chromic, Chromic natural absorbable, size					
MS24-180	3/0, 75 cm, reverse cutting, 1/2 circle, 19mm-37mm	36	piece	286.00	10,296.00	
	(with at least 24 months expiration).					
	Catgut Chromic, Chromic natural absorbable, size					
	3/0, 75 cm, reverse cutting, 3/8 circle, 19mm-37mm					
MS24-181	(with at least 24 months expiration).	36	piece	286.00	10,296.00	
	(Mariational 2 Monato axpiration).					
	Catant Channing Channing to the Latest Annual Channing Ch					
MS24-182	Catgut Chromic, Chromic natural absorbable, size	40				
WI324-102	4/0, 75 cm, reverse cutting, 1/2 circle, 37mm (with atleast 24 months expiration)	48	piece	313.50	15,048.00	
	Catgut Chromic, Chromic natural absorbable, size					
MS24-183	4/0, 75 cm, reverse cutting, 3/8 circle, 37mm (with	48	nioco	212 50	15.040.00	
10021100	atleast 24 months expiration)	40	piece	313.50	15,048.00	
	Catgut Chromic, Chromic natural absorbable, size 0,				***************************************	
MS24-184	75 cm, round taper point, 1/2 circle, 37mm (with	48 niece	48	piece	266.20	12 777 60
	atleast 24 months expiration).		picoc	200.20	12,777.60	
	Catgut Chromic, Chromic natural absorbable, size 1,			···	, (- 	
MS24-185	75 cm, round taper point, 1/2 circle, 37mm (with	72	piece	238.70	17,186.40	
	atleast 24 months expiration			230.70	17,100.40	
	Catgut Chromic, Chromic natural absorbable, size					
MS24-186	2/0, 75 cm, round taper point, 1/2 circle, 37mm (with	48	piece	286.00	13,728.00	
	atleast 24 months expiration).				,	
	Catgut Chromic, Chromic natural absorbable, size				· · · · · · · · · · · · · · · · · · ·	
MS24-187	3/0, 75 cm, round taper point, 1/2 circle, 26mm-	48	piece	205 00	12 720 00	
	37mm (with at least 24 months expiration).	1	piece	286.00	13,728.00	
-1-1-1-W-1						
14004 400	Catgut Chromic, Chromic natural absorbable, size			1		
MS24-188	4/0, 75 cm, round taper point, 1/2 circle, 22mm (with	48	piece	313.50	15,048.00	
	atleast 24 months expiration).					
MS24-189	Cautery Pad, adult disposable, solid gel, foam					
	support 202x101mm, bipolar (REM Control), 300m	350	piece	350.00	122,500.00	
	cable and valleylab connector (with at least 24				,	
	months expiration). Cautery Pencil - Hand controlled with ultra clean					
MS24-190	blade electrode, safety holster, Teflon coated tip.	350	piece	410.00	146 200 00	
521 100	(with at least 24 months expiration).	350	piece	418.00	146,300.00	
	Cautery tip Long, electrodes 15cm, lancet type	<u> </u>				
MS24-191	(spatula)	50	piece	495.00	24,750.00	
	···/	L				

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUPP	PLIES				
MS24-192	Cautery tip Short, lancet type (spatula)	50	piece	495.00	24,750.00
	Chest tube thoracostomy 1 liter glass bottle with				
MS24-193	glass tube and rubber cork (CTT Bottle) with 3ft	25	set	800.00	20,000.00
	rubber hose tubing, sterile				
	Cigarette drain (Penrose drainage tubing) size 1/4" -				:
MS24-194	Pure rubber latex, X-ray opaque, 18" length (with	100	píece	71.50	7,150.00
	atleast 24 months expiration).				
	Cigarette drain (Penrose drainage tubing) size 1/2" -	400		74.50	7 450 00
MS24-195	Pure rubber latex, X-ray opaque, 18" length (with	100	piece	71.50	7,150.00
	atleast 24 months expiration).				
MC04 406	Cigarette drain (Penrose drainage tubing) size 1" - Pure rubber latex, X-ray opaque, 18" length (with	100	piece	71.50	7,150.00
MS24-196	atleast 24 months expiration).	100	hece	/1.50	7,130.00
	CO2 Absorber Lime Soda; Intersorb Plus Sodalime				
MS24-197	5L Gallon, white to violet change. (with atleast 24	10	gallon	1,901.90	19,019.00
10024-107	months expiration).	,,,	g	1,301.30	23,023.00
	Decontamination Mat - Blue Color, 30 sheets per				
	mat, adhesive with indicator - 90 x 115cm, Special	40		2 450.00	34 500 00
MS24-198	antimicrobial and antifungal chemical agent	10	piece	3,450.00	34,500.00
	(Benzoisothiazoline)				
MC24 400	Distilled Water, 10 liters / bottle (for Clinical Lab,	568	gallon	110.00	62,480.00
MS24-199	Dental Clinic and OR use)	300	ganon	110.00	02,400.00
	Droplight / Medical Gooseneck Lamp - Adjustable				
	height, Goose neck examination lamp is a				
MS24-200	multipurpose lamp attached to a flexible adjustable	16	piece	3,500.00	56,000.00
	sgaft that can be positioned in various ways.				
	Stainless steel body, high quality				
MS24-201	Elastic Bandage, VELCRO TYPE, permanent,	700	roll	110.00	77,000.00
101324-201	duralastic, (for pressurized dressing) 4" x 10 yards	'**	10,,,	110.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Epidural set, Epidural Catheter, G. 18, for continuous				
	epidural anesthesia with Tuohy type needle, catheter				
14004 000	(closed tip, 3 lateral eyes) with connector, epidural	44	kit	1,250.00	55,000.00
MS24-202	flat filter and LOR syringe, filter 0.2 micron, Loss-of-	44	NIL	1,230.00	33,000.00
	Resistance syringe - Luer Slip (with at least 24				
	months expiration).				
MS24-203	Full Body Convective Warming Blanket for smiths	50	piece	1,650.00	82,500.00
	medical warmer, Adult		,		
MS24-204	Full Body Convective Warming Blanket for smiths	30	piece	1,650.00	49,500.00
	medical warmer, Pediatric				
	Guedel oral airway, size 1 - Color-coded for easy				
	identification. Smooth finish and rounded edges.			1	
MS24-205	Reinforced bite block helps prevent occlusion. Full	10	piece	96.00	960.00
	range of sizes and convenient packaging options.				
]	Emergency kit available with a clear plastic case.				
	Cuadal aral airway size 2. Calar cadad for easy				
	Guedel oral airway, size 2 - Color-coded for easy identification. Smooth finish and rounded edges.				
MS24-206	Reinforced bite block helps prevent occlusion. Full	10	piece	96.00	960.00
111021200	range of sizes and convenient packaging options.		1		
	Emergency kit available with a clear plastic case.				
		 	 	<u> </u>	
	Guedel oral airway, size 3 - Color-coded for easy				
	identification. Smooth finish and rounded edges.				
MS24-207	Reinforced bite block helps prevent occlusion. Full	10	piece	96.00	960.00
	range of sizes and convenient packaging options.				
1	Emergency kit available with a clear plastic case.	1	Ī	1	1

ITEM CODE	ITEM DESCRIPTION	QUANTITY	иом	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-208	Guedel oral airway, size 4 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	10	piece	96.00	960.00
MS24-209	Guedel oral airway, size 5 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	10	piece	96.00	960.00
MS24-210	Guedel oral airway, size 6 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	20	piece	96.00	1,920.00
MS24-211	Guedel oral airway, size 7 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	20	piece	96.00	1,920.00
MS24-212	Guedel oral airway, size 8 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	20	piece	96.00	1,920.00
MS24-213	Guedel oral airway, size 9 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	20	piece	96.00	1,920.00
MS24-214	Guedel oral airway, size 10 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	20	piece	96.00	1,920.00
MS24-215	Guedel oral airway, size 11 - Color-coded for easy identification. Smooth finish and rounded edges. Reinforced bite block helps prevent occlusion. Full range of sizes and convenient packaging options. Emergency kit available with a clear plastic case.	20	piece	96.00	1,920.00
MS24-216	High Level Disinfectant Solution Ortho- Phthalaldehyde, Ready-to-use for Medical Instruments, 6mins contact time, atleast 28days use- life. Atleast 5L/Gallon Contains: 0.55% Ortho- Phthalaldehyde active ingradients. Effective againts wide array of microorganisms. It kills vegetative bacteria,mycobacteria viruses and fungi. (with atleast 24 months expiration).	36	gallon	2,200.00	79,200.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-217	Isopropanol, Benzalkonium Chloride 1,000mL - Skin, wound & operative site disinfectant. Skin antisepsis before injections, punctures etc. bactericidal (incl. MRSA), fungicidal, tuberculocidal, mycobactericidal, and virucidal effects against coated viruses (incl. HBV, HCV, HIV), and is effective against Herpes simplex virus type 1 and rotavirus. (with at least 24 months expiration)	200	bottle	2,200.00	440,000.00
MS24-218	Laparotomy Sponge 8x36x12, 40'sx40's, 28x24 mesh,with blue radio opaque and x-ray detectable strip. (with atleast 24 months expiration).	100	piece	154.00	15,400.00
MS24-219	Laryngeal Mask Airway, Size 2, double lumen, Silicon, Disposable, LMA	10	piece	3,500.00	35,000.00
MS24-220	Laryngeal Mask Airway, Size 3, double lumen, Silicon, Disposable, LMA	10	piece	3,500.00	35,000.00
MS24-221	Laryngeal Mask Airway, Size 4, double lumen, Silicon, Disposable, LMA	10	piece	3,500.00	35,000.00
MS24-222	Laryngeal Mask Airway, Size 5, double lumen, Silicon, Disposable, LMA	10	piece	3,500.00	35,000.00
MS24-223	Liquid Hand Rub Antiseptic with 70% Ethanol and 0.5% Chlorehexidine Gluconate skin disinfectant, Bactericidal, Fungicidal and Virucidal, 5Liters/containers.(with atleast 24 months expiration).	12	gallon	6,760.27	81,123.24
MS24-224	Nylon cutting with needle size 4-0, 26mm, 1/2c, 75cm.	24	piece	400.00	9,600.00
MS24-225	Nylon cutting with needle size 5-0, 26mm, 1/2c, 75cm.	24	piece	400.00	9,600.00
MS24-226	Nylon Cutting 5-0, P3, 26mm, 1/2c, 75cm.	24	piece	400.00	9,600.00
MS24-227	Nylon Cutting 8-0, 6.5mm, 1/4c, 30cm, spatula	24	piece	400.00	9,600.00
MS24-228	Orthoplast Skin Traction Kit - Content: Fabric Strapping coated with hypoallergenic hot melt adhesive. Foam padding attached to the middle of the strap for cushioning effect at the malleolar region. Plastic spacer block (suitally drilled for cord attachement). Elastic non adhesive bandage.	50	kit	850.00	42,500.00
MS24-229	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 0, 75cm, cutting needle, 1/2 circle, 37mm / 40mm(with atleast 24 months expiration).	24	piece	536.80	12,883.20
MS24-230	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 0, 75cm, cutting needle, / 3/8 circle, 37mm / 40mm(with atleast 24 months expiration).	24	piece	536.80	12,883.20
MS24-231	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 1, 75cm, cutting needle, 1/2 circle, 37mm / 40mm (with atleast 24 months expiration).	48	piece	572.00	27,456.00
MS24-232	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 1, 75cm, cutting needle, 3/8 circle, 37mm / 40mm (with atleast 24 months expiration).	24	piece	572.00	13,728.00
MS24-233	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 2/0, 75cm, cutting needle, 1/2 circle, 37mm / 40mm (with atleast 24 months expiration).	24	piece	539.00	12,936.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE					
MEDICAL SUP	PLIES									
	PGA (Polyglycolic Acid) braided, coated, braided				A CONTRACTOR CONTRACTO					
MS24-234	synthetic absorbable, size 2/0, 75cm, cutting needle,	24	piece	539.00	12,936.00					
	3/8 circle, 37mm / 40mm (with atleast 24 months	-'		339.00	12,950.00					
	expiration).		·							
	PGA (Polyglycolic Acid) braided, coated, braided									
MS24-235	synthetic absorbable, size 3/0, 75cm, cutting needle,	24 piec	e, 24 piece	507.10	12,170.40					
	1/2 circle, 24mm / 26mm (with atleast 24 months			•	307.10	12,170.40				
***************************************	expiration). PGA (Polyglycolic Acid) braided, coated, braided		"							
		24								
MS24-236	synthetic absorbable, size 3/0, 75cm, cutting needle, 3/8 circle, 24mm / 26mm (with atleast 24 months		' 24	', 24 r	e, 24 piece	, 24 piec	24	24	piece	507.10
	expiration).				,					
	PGA (Polyglycolic Acid) braided, coated, braided		····							
	synthetic absorbable, size 4/0, 75cm, cutting needle,									
MS24-237	1/2 circle, 24mm / 26mm / 40mm (with atleast 24	24	piece	507.10	12,170.40					
	months expiration).				•					
	PGA (Polyglycolic Acid) braided, coated, braided		***							
	synthetic absorbable, size 4/0, 75cm, cutting needle,									
MS24-238	3/8 circle, 24mm / 26mm / 40mm (with atleast 24	24	piece	507.10	12,170.40					
	months expiration).									
11004.000	PGA (Polyglycolic Acid) 5-0 P3 Needle cutting (with									
MS24-239	atleast 24 months expiration).	24	piece	511.50	12,276.00					
	PGA (Polyglycolic Acid) braided, coated, braided									
MS24-240	synthetic absorbable, size 0, 90cm, round needle,									
141024-240	1/2 circle, 37mm / 40mm (with atleast 24 months	48	piece	536.80	25,766.40					
	expiration).									
	PGA (Polyglycolic Acid) braided, coated, braided		piece 536.00							
MS24-241	synthetic absorbable, size 1, 90cm, round needle,	48		525.00						
MOZT ZT	1/2 circle, 37mm / 40mm (with atleast 18 to 24			536.00	25,728.00					
	months expiration).									
	PGA (Polyglycolic Acid) braided, coated, braided		niece 477.40							
MS24-242	synthetic absorbable, size 2/0, 90cm, round needle,	72		piece 477.40	24 272 00					
	1/2 circle, 37mm / 40mm (with atleast 24 months	, -	picce	477.40	34,372.80					
	expiration).									
	PGA (Polyglycolic Acid) braided, coated, braided	1								
MS24-243	synthetic absorbable, size 3/0, 90cm, round needle,	72	piece	piece 511.50	36,828.00					
	1/2 circle, 37mm / 40mm (with atleast 24 months	!	picco 311.30	30,020.00						
P-1-W-1	expiration). PGA (Polyglycolic Acid) braided, coated, braided									
	synthetic absorbable, size 4/0, 90cm, round needle,									
MS24-244	1/2 circle, 37mm / 40mm (with atleast 24 months	72	piece	381.70	27,482.40					
	expiration).				,					
	PGA (Polyglycolic Acid) 8-0 Round(with atleast 24									
MS24-245	months expiration).	48	piece	511.50	24,552.00					
	Pneumatic Tourniquet (with cuff for upper & lower									
MS24-246	extremities	20	piece	110.00	2,200.00					
			···							
MS24-247	Polypropylene knitted non-absorbable Mesh, undyed,	20	piece	2,332.00	46,640.00					
	7.6cm x 15cm (with atleast 24 months expiration).		,,,,,,	2,332.00	40,040.00					
	Polypropylene monofilament, non absorbable, size 0,		··							
MS24-248	75 cm, cutting needle, 1/2 circle, 37mm (with atleast	36	piece	357.50	12,870.00					
	24 months expiration).		-		12,070.00					
	Polypropylene monofilament, non-absorbable, size 1,									
	75 cm, cutting needle, 1/2 circle, 37mm – 40mm	36	piece	357.50	12,870.00					
	(with at least 24 months expiration).				,_,					
	Polypropylene monofilament, non absorbable, size									
MS24-250	2/0, 75 cm, cutting needle, 1/2 circle / 3/8 circle,	36	piece	257 50	43 670 00					
	26mm - 37mm (with at least 24 months expiration).	30	hiere	357.50	12,870.00					
	The transfer of the transfer o									

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-251	Polypropylene monofilament, non absorbable, size 3/0, 75 cm, cutting needle, 1/2 circle, 24mm / 37mm (with atleast 24 months expiration).	24	piece	357.50	8,580.00
MS24-252	Polypropylene monofilament, non absorbable, size 3/0, 75 cm, cutting needle, 3/8 circle, 24mm / 37mm (with atleast 24 months expiration).	24	piece	357.50	8,580.00
MS24-253	Polypropylene monofilament, non absorbable, size 4/0, 45cm-75 cm, cutting needle, 1/2 circle, 19mm - 24mm (with at least 24 months expiration).	24	piece	357.50	8,580.00
MS24-254	Polypropylene monofilament, non absorbable, size 4/0, 45cm-75 cm, cutting needle, 3/8 circle, 19mm - 24mm (with at least 24 months expiration).	24	piece	357.50	8,580.00
MS24-255	Polypropylene monofilament, non absorbable, size 0, 75 cm, round needle, 1/2 circle, 37mm (with atleast 24 months expiration).	24	piece	293.70	7,048.80
MS24-256	Polypropylene monofilament, non absorbable, size 1, 75 cm, round needle, 1/2 circle, 37mm (with atleast 24 months expiration).	24	piece	293.70	7,048.80
MS24-257	Polypropylene monofilament, non absorbable, size 2/0, 75 cm, round needle / taper needle, 1/2 circle, 26mm-37mm (with at least 24 months expiration).	24	piece	293.70	7,048.80
MS24-258	Polypropylene monofilament, non absorbable, size 3/0, 75cm-90cm, round needle, 1/2 circle, 37mm / 26mm (with atleast 24 months expiration).	24	piece	293.70	7,048.80
MS24-259	Polypropylene monofilament, non absorbable, size 4/0, 75cm-90cm, round needle, 1/2 circle, 17mm(with atleast 24 months expiration).	24	piece	293.70	7,048.80
MS24-260	Polypropylene monofilament, round 5-0, 17mm, 1/2c, 90cm	24	piece	560.00	13,440.00
MS24-261	Polypropylene Suture with round needle 6-0, 24" (60cm), 9mm – 10mm, 3/8c (with at least 24 months expiration).	24	piece	400.40	9,609.60
MS24-262	Propan 2-ol, propan-1-ol, benzyl - C12-16-alkydimethylammonium chloride 1,000ml - Surgical and Hygienic Hand Disinfection Solution of medical grade with spray (with at least 24 months expiration	100	bottle	2,350.00	235,000.00
MS24-263	Rust Remover - Acidic cleaning concentrate and troubleshooting aid, 1 liter - can be used to remove silicate deposits in washer, removal of annealing colours, water spots, transferred/initial rust, and encrustations, based on acids and surfactants and effectively removes inorganic contamination, exclusively used with stainless steel instruments, and alkali-free. (with at least 24 months of expiration)	20	bottle	2,950.00	59,000.00
MS24-264	Scalpel Blade #10 Disposable Disposable Dermaplaning Blades with Plastic Handle, Scalpel Blades, High Carbon Steel Dermablade Blades Individually Wrapped Sterile (with at least 24 months of expiration)	100	piece	95.00	9,500.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-265	Scalpel Blade #11 Disposable Disposable Dermaplaning Blades with Plastic Handle, Scalpel Blades, High Carbon Steel Dermablade Blades Individually Wrapped Sterile (with at least 24 months of expiration)	100	piece	95.00	9,500.00
MS24-266	Scalpel Blade #15 Disposable Disposable Dermaplaning Blades with Plastic Handle, Scalpel Blades, High Carbon Steel Dermablade Blades Individually Wrapped Sterile (with at least 24 months of expiration)	100	piece	95.00	9,500.00
MS24-267	Scalpel Blade #20 Disposable Disposable Dermaplaning Blades with Plastic Handle, Scalpel Blades, High Carbon Steel Dermablade Blades Individually Wrapped Sterile (with at least 24 months of expiration)	100	piece	95.00	9,500.00
MS24-268	Silk braided, non absorbable, size 0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	36	piece	257.40	9,266.40
M\$24-269	Silk braided, non asorbable, size 1, 60cm-75cm, 12-15 threads, no needles (with atleast 24 months expiration).	36	piece	257.40	9,266.40
MS24-270	Silk braided, non absorbable, size 2/0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	72	piece	257.40	18,532.80
MS24-271	Silk braided, non absorbable, size 3/0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	72	piece	257.40	18,532.80
MS24-272	Silk braided, non asorbable, size 4/0, 60cm, 12-15 threads, no needles (with atleast 24 months expiration).	48	piece	257.40	12,355.20
MS24-273	Silk braided, non absorbable, size 0, 75cm, cutting needle, 1/2 circle, 37mm (with atleast 24 months expiration).	24	piece	264.00	6,336.00
MS24-274	Silk braided, non absorbable, size 0, 75cm, cutting needle, 3/8 circle, 37mm (with atleast 24 months expiration).	24	piece	264.00	6,336.00
MS24-275	Silk braided, non asorbable, size 1, 75cm, cutting needle, 1/2 circle, 37mm (with atleast 24 months expiration).	24	piece	328.90	7,893.60
MS24-276	Silk braided, non absorbable, size 1, 75cm, cutting needle, 3/8 circle, 37mm (with atleast 24 months expiration).	24	piece	328.90	7,893.60
MS24-277	Silk braided, non absorbable, size 2/0, 75cm, cutting needle, 1/2 circle, 24mm / 26mm (with atleast 24 months expiration).	144	piece	236.50	34,056.00
MS24-278	Silk braided, non absorbable, size 2/0, 75cm, cutting needle, 3/8 circle, 24mm / 26mm (with atleast 24 months expiration).	144	piece	236.50	34,056.00
MS24-279	Silk braided, non absorbable, size 3/0, 45cm - 75cm, cutting needle, 1/2 circle, 26mm (with at least 24 months expiration). (For OR and Dental Clinic use)	336	piece	236.50	79,464.00
MS24-280	Silk braided, non absorbable, size 3/0, 45cm - 75cm, cutting needle, 3/8 circle, 26mm (with at least 24 months expiration). (For OR and Dental Clinic use)	24	piece	236.50	5,676.00
MS24-281	Silk braided, non absorbable, size 4/0, 45cm - 75cm, cutting needle, 1/2 circle, 19mm - 26mm (with at least 24 months expiration).	24	piece	236.50	5,676.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
	Silk braided, non absorbable, size 4/0, 45cm - 75cm,				
MS24-282	cutting needle, 3/8 circle, 19mm - 26mm (with at	24	piece	236.50	5,676.00
	least 24 months expiration).		·		,
	Silk braided, non asorbable, size 0, 75cm, round				
M\$24-283	needle, 1/2 circle, 37mm(with atleast 24 months	36	piece	242.00	8,712.00
	expiration).				ŕ
	Silk braided, non asorbable, size 1, 75cm, round				
MS24-284	needle, 1/2 circle, 37mm(with atleast 24 months	36	piece	328.90	11,840.40
:	expiration).				
	Silk braided, non absorbable, size 2/0, 75cm, round				
MS24-285	needle, 1/2 circle, 26mm / 37mm(with atleast 24	60	piece	242.00	14,520.00
	months expiration).				
	Silk braided, non absorbable, size 3/0, 75cm, round				
MS24-286	needle, 1/2 circle, 25mm- 37mm (with at least 24	60	piece	242.00	14,520.00
	months expiration).				
	Silk braided, non absorbable, size 4/0, 75cm, round				
MS24-287	needle, 1/2 circle, 22mm / 26mm (with atleast 24	60	piece	242.00	14,520.00
	months expiration).				
	Spinal Anesthesia Needle, sterile, G. 20 x 3 1/2",				
MS24-288	must be sharp and sturdy (with atleast 24 months	100	piece	120.00	12,000.00
	expiration).				
	Spinal Anesthesia Needle, sterile, G. 21 x 3 1/2",				
MS24-289	must be sharp and sturdy (with atleast 24 months	100	piece	120.00	12,000.00
	expiration).		ļ		
	Spinal Anesthesia Needle, sterile, G. 22 x 3 1/2",				
MS24-290	must be sharp and sturdy (with atleast 24 months	100	piece	120.00	12,000.00
	expiration).				
	Spinal Anesthesia Needle, sterile, G. 23 x 3 1/2",		l .		
MS24-291	must be sharp and sturdy (with atleast 24 months	100	piece	120.00	12,000.00
	expiration).				
	Spinal Anesthesia Needle, sterile, G. 25 x 3 1/2",			400.00	
MS24-292	must be sharp and sturdy (with atleast 24 months	200	piece	120.00	24,000.00
	expiration).				
	Spray foam - Ready-to-use enzymatic pre-cleaning	Ì	1		
	with disinfection foam based with active ingredients				
	such as protease and surfactants for keeping				
MS24-293	surgical instruments moist, active against enveloped	20	bottle	4,700.00	94,000.00
101524-295	viruses, bactericidal, levurocidal, has N,N-Didecyl-N-	20	Dottie	4,700.00	34,000.00
:	methyl-poly (oxyethyl) ammonium propionate and N-	+			
	(3-Aminopropyl)-N-dodecylpropane-1, 3-diamine,				
	0.5L				
MS24-294	Steri strip, 12mm x 100mm	50	piece	220.00	11,000.00
MS24-295	Steri strip, 6mm x 100mm	50	piece	220.00	11,000.00
141024-280	Sterile water, 100ml (with atleast 24 months	1	picoc	-	
MS24-296	expiration).	100	piece	128.00	12,800.00
	Suction Poole Drain, non-toxic, non-pyrogenic,				
	sterilized by EO gas, with 210cm universal				
MS24-297	connecting tube, with removable suction tip cover	200	piece	220.00	44,000.00
	(with atleast 24 months expiration).				
1	Surgical Blade #10. Superior cutting quality, strength				
1	and corrosion resistant characterize these stainless				
MS24-298	steel, disposable blades. Individually wrapped and	300	piece	27.50	8,250.00
	sealed in aluminum foil to maintain sterility (gamma				
	irradiation), ensuring long shelf-life. (with at least 24				
	months expiration).			1	

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-299	Surgical Blade #11. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration).	300	piece	27.50	8,250.00
MS24-300	Surgical Blade #15. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration).	300	piece	27.50	8,250.00
MS24-301	Surgical Blade #20. Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration).	300	piece	27.50	8,250.00
MS24-302	Surgical Marking pen with ruler, sterilized, individually packed. (with atleast 24 months expiration).	100	piece	302.50	30,250.00
MS24-303	Surgical Scrub with Chlorhexidine and brushes(with atleast 24 months expiration).	200	piece	114.00	22,800.00
MS24-304	T-tube, Fr.12, single use, individually packed, smooth surface, non-toxic latex, with radiopaque line. (with at least 24 months expiration)	20	piece	132.00	2,640.00
MS24-305	T-tube, Fr.14, single use, individually packed, smooth surface, non-toxic latex, with radiopaque line. (with at least 24 months expiration)		piece	132.00	2,640.00
MS24-306	T-tube, Fr.16, single use, individually packed, smooth surface, non-toxic latex, with radiopaque line. (with at least 24 months expiration)		piece	132.00	2,640.00
MS24-307	T-tube, Fr.18, single use, individually packed, smooth surface, non-toxic latex, with radiopaque line. (with at least 24 months expiration)		piece	132.00	2,640.00
MS24-308	Transparent Dressing with absorbent pad, size: D: 4 x 10 (10cm x 25cm) P: 2 x 8 (5cm x 20cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	100	piece	550.00	55,000.00
MS24-309	Transparent Dressing with absorbent pad, size: D: 4 x 6 (10cm x 15cm) P: 2 x 4 3/8 (5cm x 11cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	50	рс	330.00	16,500.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				control of college and college as
MS24-310	Transparent Dressing with absorbent pad, size: D: 4 x 8 (10cm x 20cm) P: 2 x 6 5/16 (5cm x 16cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	50	рс	440.00	22,000.00
MS24-311	Transparent film Dressing frame style, without gauze size: 4 in x 4 3/4 in (10cm x 12cm) waterproof and impermeable to bacteria and virus(with atleast 24 months expiration)	2,000	piece	125.00	250,000.00
MS24-312	Multifix Tape - Universal securement device for effective fixation to the skin of range of medical tubing, with autraumatic pure soft silicone -readhesive gel strip. Gentle on skin, no skin prep required before application, leaves no sticky residue on skin upon removal, can be easily repositioned without the risk of skin and hair pulling, showerproof, breathable, hypoallergenic. LARGE	100	piece	850.00	85,000.00
MS24-313	Wound Drainage System - Silicone 100-150mL reservoir capacity, with clear calibration and built-in clip hanger, NRV (Non return valve) system, 720mm Silicone connecting tube with radio opaque line, 110mmHg Negative pressure, with or without Trocar needle. (with at least24 months expiration).	30	piece	1,450.00	43,500.00
MS24-314	Extension Tube with Tri-Lumen NF (Needle Free), with luer access valve, closed system, color coded slide clamp. Kink resistant tubing. (with at least 24 months expiration)	300	piece	150.00	45,000.00
MS24-315	Steam Indicator Strips (200's/box) (with at least 24 months expiration)	10	box	360.00	3,600.00
MS24-316	Velocity Biological Indicator 30 CT for Plasma Sterilizer must be recommended by manufacturing brand (Sterrad)	12	box	14,300.00	171,600.00
MS24-317	Sealsure CI tape case, box of 6's for Plasma Sterilizer, must be recommended by manufacturing brand (Sterrad)	5	box	12,650.00	63,250.00
MS24-318	Chemical Indicator strip, box of 1000's, must be recommended by manufacturing brand (Sterrad)	1	box	12,650.00	12,650.00
MS24-319	Cassette 100 NX (2's), must be recommended by manufacturing brand (Sterrad)	30	box	18,500.00	555,000.00
MS24-320	Flexible adult Tracheostomy Tube size 6.0, Fenestrated (with at least 24 months expiration).	15	piece	3,360.00	50,400.00
MS24-321	Flexible adult Tracheostomy Tube size 6.5, Fenestrated (with at least 24 months expiration).	15	piece	3,360.00	50,400.00
MS24-322	Flexible adult Tracheostomy Tube size 7.0, Fenestrated (with at least 24 months expiration).	15	piece	3,360.00	50,400.00
MS24-323	Flexible adult Tracheostomy Tube size 7.5, Fenestrated (with at least 24 months expiration).	10	piece	3,360.00	33,600.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-324	Flexible adult Tracheostomy Tube size 8.0, Fenestrated (with at least 24 months expiration).	10	piece	3,360.00	33,600.00
MS24-325	Flexible adult Tracheostomy Tube size 8.5, Fenestrated (with at least 24 months expiration).	10	piece	3,360.00	33,600.00
MS24-326	Flexible adult Tracheostomy Tube size 6.0, with Disposable or Reusable Inner Cannula (with at least 24 months expiration).	15	piece	3,360.00	50,400.00
MS24-327	Flexible adult Tracheostomy Tube size 6.5, with Disposable or Reusable Inner Cannula (with at least 24 months expiration).	15	piece	3,360.00	50,400.00
MS24-328	Flexible adult Tracheostomy Tube size 7.0, with Disposable or Reusable Inner Cannula (with at least 24 months expiration).	10	piece	3,360.00	33,600.00
MS24-329	Flexible adult Tracheostomy Tube size 8.5, with Disposable or Reusable Inner Cannula (with at least 24 months expiration).	10	piece	3,360.00	33,600.00
MS24-330	Tracheostomy Mask, Adult - The neckband is made from a comfortable, non biting material, and the swivel tubing connector permits access from either side of the patient. The special strap clips allow the mask to be removed with minimal disturbance to the patient.	100	piece	200.00	20,000.00
MS24-331	Absorbable Hemostat, SURGICEL - hemostatic agent (blood-clot-inducing material) made of an oxidized cellulose polymer (the unit is polyanhydroglucuronic acid) 3x4inches	20	piece	4,000.00	80,000.00
MS24-332	Surgical Blade #12 (for Dental And ENT Service use) Superior cutting quality, strength and corrosion resistant characterize these stainless steel, disposable blades. Individually wrapped and sealed in aluminum foil to maintain sterility (gamma irradiation), ensuring long shelf-life. (with at least 24 months expiration).	235	piece	27.50	6,462.50
MS24-333	Surgical Nasal Sponge Packing - Low density, Large Pore merocel microdispersed, oxidized cellulose standard nasal dressing with string, length 8cm, Thickness 1.5cm, Height 2cm	50	piece	330.00	16,500.00
MS24-334	Surgical Nasal Sponge Packing - Low density, Large Pore merocel microdispersed, oxidized cellulose standard nasal dressing with string, length 4.5cm, Thickness 1.5cm, Height 2cm	50	piece	165.00	8,250.00
MS24-335	Nasal Splint (External) -Soft-Form Nasal Splint, Regular, Kit	30	piece	880.00	26,400.00
M\$24-336	Anti Embolic Stockings Thigh High (Small) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings	10	piece	1,500.00	15,000.00
MS24-337	Anti Embolic Stockings Thigh High (Medium) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings	20	piece	1,500.00	30,000.00
MS24-338	Anti Embolic Stockings Thigh High (Large) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings	10	piece	1,500.00	15,000.00
MS24-339	Polyester Suture, 2-0 - 30"(75cm) 17mm, 1/2c, Tapercut,	10	piece	350.00	3,500.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-340	Polyester Suture, 5-0 - 30"(75cm) 17mm, 1/2c, Tapercut,	10	piece	350.00	3,500.00
MS24-341	Ortho Gloves size 7.0, sterile, powder free, thick and elastic, not easily tore. (with atleast 24 months expiration).	200	pair	82.50	16,500.00
MS24-342	Ortho Gloves size 7.5, sterile, powder free, thick and elastic, not easily tore. (with atleast 24 months expiration).	200	pair	82.50	16,500.00
MS24-343	Ortho Gloves size 8.0, sterile, powder free, thick and elastic, not easily tore. (with atleast 24 months expiration).	200	pair	82.50	16,500.00
MS24-344	Balance salt solution 500ml	50	piece	900.00	45,000.00
MS24-345	Carbachol Opthalmic Solution, 1mL	20	piece	250.00	5,000.00
MS24-346	Corneal knife 2.75mm	100	box	750.00	75,000.00
MS24-347	Corneal Stab knife 15 degree	100	box	750.00	75,000.00
MS24-348	Crescent bevel up knife 2.3mm - 2.5mm	10	piece	750.00	7,500.00
MS24-349	Eye Pad Sterile, Constructed of absorbent cotton filler. Covered with soft non-woven fabric. Provides protection to the eye when required. Oval shape. Sterile packaging. 4 x 6 cm	100	piece	7.00	700.00
MS24-350	Eye drape, sterile, halfbody with pouch	200	piece	330.00	66,000.00
MS24-351	PGA (Polyglycolic Acid/Polyglactin) braided, coated, braided synthetic absorbable, size 6/0, 75cm, cutting needle, 0.7 metric, 18", 45cm-76cm, 1/4c, spatulated (with at least 24 months expiration).	12	piece	550.00	6,600.00
MS24-352	Silk Suture, Reverse Cutting, Size 6-0, Black, 18", Needle HE-7, 3/8 - ½ Circle (with atleast 24 months expiration).	12	piece	593.60	7,123.20
MS24-353	Sodium Hyaluronate at least 1.5% viscoellatic eye gel, 1mL Pre-filled syringe	100	piece	3,000.00	300,000.00
MS24-354	Sodium Hyaluronate 1.5% viscoellatic eye gel, 1mL	100	piece	2,000.00	200,000.00
MS24-355	Tryphan blue ophthalmic solution, 1mL vial	50	piece	250.00	12,500.00
MS24-356	Phacoemulsification basic pack (must be compatible with Stellaris Phaco machine)	25	pack	3,000.00	75,000.00
MS24-357	Arterio-Venous Fistula (AVF) kit, inclusive of 4pcs sterile cherry balls, 1pc drape, 2pcs sterile gauze, 2pcs antiseptic pads, 3pcs 10cc syringes with needle g.21, and 2pcs sterile gauze pillows, with at least 24 months expiration	5,000	piece	165.00	825,000.00
MS24-358	Sub clavian kit inclusive of 2pairs of Sterile Gloves 6.5, 2 packs of sterile gauze sponges 4x4x8 5's, 1 pc sterile drape, 8 pcs Chlorhexidine pad, 2pcs heplock, with at least 24 months expiration		piece	165.00	82,500.00
MS24-359	Dialysis Needle for Fistula and Graft, G16, arterial, 1.6 x 25mm, with metal stainless needle, with back eye, and sharp cutting edge, providing smooth insertion, fixed wing, with at least 24 months expiration	5,500	piece	28.00	154,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-360	Dialysis Needle for Fistula and Graft, G16, venous, 1.6 x 25mm, with metal stainless needle, smooth insertion, with fixed wing, with at least 24 months expiration	5,500	piece	28.00	154,000.00
MS24-361	Dialysis Needle for Fistula and Graft, G17, arterial, 1.6 x 25mm, with metal stainless needle, with back eye, and sharp cutting edge, providing smooth insertion, fixed wing, with at least 24 months expiration	720	piece	28.00	20,160.00
MS24-362	Dialysis Needle for Fistula and Graft, G17, venous, 1.6 x 25mm, with metal stainless needle, smooth insertion, with fixed wing, with at least 24 months expiration	720	piece	28.00	20,160.00
MS24-363	Acid Concentrate Pre-Mix 5 liter per container, with the followng content: each liter contains: sodium chloride 210.67 grams - 219.70 grams, potassium chloride 5.219 grams to 5.50 grams, calcium chloride 6.47 grams to 8.10 grams, magnesium chloride 3.55 grams to 7.54 grams, glacial acetic acid 4.70 grams to 8.46 grams, with or without glucose with at least 24 monhts expiration. must be compatible with the technical requirements of the existing hemodialysis machine (Fresenius) and will not require technical adjustments/ service prior usage, so as not to void warranty of equipment supplier. (must be compatible with 4008s Hemodialysis Machine)	8,300	container	385.00	3,195,500.00
M\$24-364	Bicarbonate Concentrate granules, 8.4kg/100L concentrate (8.4%), each 100 ml of this concentrate contain 84 grams sodium hydrogen carbonate, with at least 24 months expiration, will not require technical adjustments/service prior usage, so as not to void warranty of equipment supplier. (must be compatible with 4008s Hemodialysis Machine)	610	packs	1,155.00	704,550.00
MS24-365	Potency Strips, test for potency of peracetic acid in dialyzer reuse,100 strips per bottle, with shelf life of 18 months.	8,000	strip	12.00	96,000.00
MS24-366	Test for residual peroxide in rinse water, 100 strips per bottle, with shelf life of 18 months,	3,000	strip	12.00	36,000.00
MS24-367	Bloodlines AV-Set with drain bag and macroset, blood pump segment diameter (ID) 8mm x (OD),12mm, chamber size 22mm, with at least 24 months expiration, must be compatible with the technical requirements of the existing hemodialysis machine (Fresenius), will not require technical adjustments/service prior usage, so as not to void warranty of equipment supplier. (must be compatible with 4008s Hemodialysis Machine)	6,600	piece	220.00	1,452,000.00
MS24-368	Low Flux Dialyzer, surface area 1.8-1.9 m2, UF coeff 12.3-18 ml/hr/mmHg2, with at least 24 months expiration. (must be compatible with 4008s Hemodialysis Machine)	430	piece	1,450.00	623,500.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-369	High Flux Dialyzer, effective ssurface area 1.5 - 1.8 m2, UF coeff 52-67 ml/hr/mmHg2. (must be compatible with 4008s Hemodialysis Machine) with at least 24 months expiration	1,200	piece	1,900.00	2,280,000.00
MS24-370	Thermochemical Disinfectant for heat disinfection of hemodialysis machines, each 100g of disinfectant contains 21g citric acid 1-hydrate, 5 liters per container, with at least 24 months expiration. (must be compatible with 4008s Hemodialysis Machine)	100	container	6,000.00	600,000.00
MS24-371	Dialysis Fluid Filter for existing Fresenius Hemodialysis Machines, effective surface 2.2m², weight 170g, polypropylene housing material, polyurethane potting material, silicone sealings, filtration rate of 5ml/min x mmhg, operating time: max 12 weeks or 100 treatments, with at least 24 months expiration, will not require technical adjustments/service prior usage, so as not to void warranty of equipment supplier. (must be compatible with 4008s Hemodialysis Machine)	115	piece	6,050.00	695,750.00
MS24-372	UV sterilizer, with voltage 220 V, applicable area at least 40 m, with remote control, easy to use.	3	piece	4,000.00	12,000.00
MS24-373	Industrial Salt, high sodium chloride content, chunky crystals, low impurities, reliable supply, 12.5 kg per pack	26	sack	900.00	23,400.00
MS24-374	Disinfecting Agent for hemodialysis based on hydrogen peroxide and peroxyacetic acid mixture, stabilized 5.1 and 8 II, 5 kilogram, cold sterilant, At least 5 liters per container, with at least 24 months expiration. (must be compatible with 4008s Hemodialysis Machine)	7	container	6,000.00	42,000.00
MS24-375	Sodium hypochlorite, bleaching agent for disinfection at least 5.2% per 1 gal	15	gallon	300.00	4,500.00
MS24-376	ECG Lead, with 12-lead wire. (must be compatible to Mindray Beneheart R3 ECG Machine) Provide 1 (ONE) year warranty certificate from the date of delivery, inspection and acceptance.	15	piece	20,000.00	300,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-377	STAND TYPE BP APPARATUS - ADULT. Height - 25 cm, Weight - 400 gm, Breadth - 25 cm, Length - 25 cm. Generously dimensioned scale (Ø 147.2 mm) and high-contrast scale layout for optimum readability; scale up to 300 mm Hg. Spacious basket on the reverse side for tubes and cuffs. Latex bulb to inflate the cuff. BP Velcro cuff, LATEX RUBBER TYPE OF BLADDER. Non-wearing air-release valve with fine adjustment. Micro-filter to protect the release valve and measurement system. Specially hardened copperberyllium membrane, which is resistantto aging, can withstand pressures of up to maximum 600 mm Hg Precision mechanism mounted on a special support, in order toensure complete stability of the measuring system and the zeropoint. No zero-point fixation required. Maximum error tolerance: ± 3 mm Hg. Provide Calibration Certificate each unit and Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration for end-user and maintenance personnel before handover of the unit.	100	set	12,800.00	1,280,000.00
MS24-378	CPR Manikin with AED indicator	1	piece	36,960.00	36,960.00
MS24-379	ECG Machine, digital and portable 3 channel; 12 lead EKG + electrode pad + lead wires orange; USB PC Software; with thermal printing system. For 80mm x 20m ECG Paper size. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and 2 (TWO) years for services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration/training for end-user and maintenance personnel before handover of the unit.	20	set	48,650.00	973,000.00
	Fetal Doppler, compact design; interchangeable waterproof probe; large backlight LCD display; accurate FHR detection with high-fidelity sound effect; support waterproof probes for both obstetrical and vascular usage; auto, average and manual working modes; various power supply solutions; automatic power-off; support 2MHz, 3MHz, 4MHz, 5MHz, and 8MHz waterproof probes. Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration for end-user and maintenance personnel before handover of the unit.	6	piece	35,200.00	211,200.00

ITEM CODE		QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PPLIES				
MS24-381	Laboratory Balance with Enclosure, at least 0.1mg readability; 120-gram capacity; 3-sec stabilization time; 0.1mg repeatability; 90mm pan size; full-color VGA graphic touchscreen with user controlled brightness; AC adpter; RS 232/USB Host and device included; GLP/GMP data output with real-time clock; metal base, ABS top hopusing, stainless steel pan, glass drafshield with two-piece top-mounted side doors and sliding too door; iluminated up-front level indicator; integral weigh below hook; security bracket; calibration lock; full housing in use cover; selectable environmental filters; auto tare; user selectable span calibration points; software lockout and reset menu; user selectable communication settings and data print options; user defineable project and user IDs.	1	set	27,500.00	27,500.00
MS24-382	Mannequin / Manikin adult XC-401	1	piece	11,907.50	11,907.50
MS24-383	Medicine Cabinet, 2 doors - Stainless. Medicine storage cabinet. 2 Door Glass Slide with 3 Glass shelves. Metal side. 4 Mounted swivel rubber caster wheels. Door lock provided. W900 x D400 x H1850mm	61	piece	29,500.00	1,799,500.00
MS24-384	Medicine Distribution Trolley, with shelves with 16 drug dispensary bins; with transparent dividers and identification card holder; with lock and key	2	piece	9,350.00	18,700.00
MS24-385	Medicine/ Emergency Cart with Cardiac Board Stainless - 3 Drawers, 1 Cabinet, IV Stand, Rubber bumper, Oxygen holder, Cardiac Board holder, Stainless Steel.	15	piece	17,525.00	262,875.00
MS24-386	Nebulizing Machine, with compressor; mouthpiece; T-piece; corrugated tubing; baffle;medication cup; nebulizer air inlet connector; VixOne Reusable nebulizer; VixOne Disposable nebulizer; PediNeb TM pacifier; Adult/Pedia Aerosol mask; compressor filter; filter kit (6 each- caps and filters); tubing connector (package of 6)	30	piece	12,100.00	363,000.00
MS24-387	Needle Burner / Shredder and Syringe Destroyer, AC/DC power, 220V; low-pressure melting method	7	set	11,825.00	82,775.00
MS24-388	OB / Delivery Instruments Set with Sterelizing Tray: 4 pcs. Backhaus Towel Clamp 5 1/4" 1 pc. Operating Scissors S/B 5 1/2" straight 1 pc. Braun Episiotomy Scissors 8 1/2" Angled to side 1 pc. Umbilican Scissors 4" 2 pcs. Thumb Forceps 5 1/2" Serrated 2 pcs. Tissue Forceps (1x2T) 5 1/2" 6 pcs. Crile Forceps 5 1/2" straight 1 pc. Mayo-Hegar Needle Holder 6" 1 pc. Mayo- Hegar Needle Holder 7" 5 pcs. Towel Clip, 11cm 1 pc. Sterilizing tray (Perforated)	10	set	30,000.00	300,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIE\$				
MS24-389	Oxygen Tank Cart, 50 Lbs. (Single) - Oxygen tank carriage double handle. Size: Fits 50 lbs Oxygen tank. Locally made. Steel Painted or Stainless steel 4 Wheelswith rubber handle	10	piece	7,000.00	70,000.00
MS24-390	Stainless Steel Panel Screen (3 folded parts) - Made of tubular stainless mounted 4pieces rubber and amp; 2 pieces wheel caster. Provided with curtain. Size L:122" x H: 65"	3	piece	7,780.00	23,340.00
MS24-391	Stretcher, Foldable, high strength AL-alloy material, Surface made of nylon mesh, Light weight, portable, easy to carry out and safety to use, Folded size: 110 x 18 x10 cm, Laid flat size: 220 x53 x14cm, Load capacity: 160 kg.	45	piece	3,500.00	157,500.00
MS24-392	Stretcher with wheels, Made of light weight aluminum alloy, High Position: 195x57x87.5cm, Low Position: 198x57x22cm, Maximum Angle of the Back: 58 degrees, Loading Bearing: 181kg	12	piece	29,000.00	348,000.00
MS24-393	Suction Machine Heavy Duty- multiple power supply, oil free lubrication pump; low noise; square negative pressure meter and plastic cover; negative pressure regulating system; power supply; Heavy duty monitor. Large Reservoir Bottle at 1000mL. Easy to use. Minimum Pressure: 400mmHg. Adjustable pressure at least negative 400mmHg. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and 2 (TWO) years for services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for end-user and maintenance personnel before handover of the unit.	10	piece	29,950.00	299,500.00
MS24-394	Walker, Foldable, Anodized aluminum structure ensures maximum safety and strength while remaining lightweight, Two button push release is easy to extend/fold, Slip resistant rubber tips in the back with 5 inch wheels in the front provide maximum comfort while in use, Width 44cm Height adjusts from 32 inch to 39 inch in 1 inch increment to accommodate users with different needs.	14	piece	2,500.00	35,000.00
MS24-395	BATHROOM WEIGHING SCALE HEAVY DUTY - made with non-skid vinyl mat features white, baked enamel finish battery-free mechanised operation analogue. Capability: 150kg maximum 500g graduation, sturdy, big metallic non-slip podium, easy-to-read dial, used to monitor body weight. Dimension: 32cm x 17cm x 40cm. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance.	10	piece	2,600.00	26,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PLIES				
MS24-396	Weighing Scale with Height and Weight Measurement, Heavy-duty solid stable platform. Superior Accuracy. Heavy duty understructure. Die cast beam, and aluminum on black insert. Easily read from either side. Factory assembled. All scales are tested with weights traceable to the National Institute of Standards and Technology (NIST). The die cast beam is dual reading and measures in BOTH pounds and kilograms. Capacity: 400 lb x 4 oz (180 kg x 100 g). Platform Size: 10-1/2 x 14-1/2 inches (267 x 368 mm). Height Rod: Measures 30-78 inches (76-198 cm). Scale height: 59 inches (1.5 m) Cartoon size: Height: 57" x Width: 19 1/2". Length: 5 1/2", 20kg. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and 2 (TWO) years for services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for enduser and maintenance personnel before handover of the unit.		piece	20,000.00	400,000.00
MS24-397	Weighing Scale, Pediatric	1	set	5,000.00	5,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUP	PPLIES				
MS24-398	Wheelchair, 4 wheels (2 rear wheels and 2 front swivel castors), Seat and backrest providing sitting support for the wheelchair user, Foot supports Armrests, Rear wheel locks (to park the wheelchair), Folding frame wheelchairs and buggies allow folding through cross-brace or other folding mechanism, Rigid frame wheelchairs and buggies must offer mechanism to fold and/or dismantle the device into smaller, separate components	50	piece	7,300.00	365,000.00
		GRAN	ID TOTAL		59,999,998.69

Submitted By:

JOYCE C. CUNTAPAY, RN, MGM End-user, BAC for Medical Supplies

Recommending Approva

ALDEN C. CUYOS, Mp, FPPA, IFAPA, MMHOA

Chairperson, BAC for Goods CY 2022

Approved By:

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II